2014.05.09 NO.01~132 mrRk:3.1

Set Screw was
M5 x 6, Now
lengthened to
engage new slot
in Axle Shaft

M5 x 16 to

r

Part Numbe
DRC3550012

)

Z

/ N
© Y N/ \

X \ y (2
P (3
P B & . @g

@ @ “—

(Optional

MODEL : DRC355 355mm (14") DRY-CUT METAL SAW



user
Arrow

user
Arrow

user
Callout
Set Screw was M5 x 6, Now lengthened to  M5 x 16 to engage new slot in Axle Shaft no.92

user
Callout
New slot added  to Axle Shaft no. 92 to avoid the shaft coming loose




